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Economics
Paper 1II

e
gyAuteRt 11

Time Allowed : 120 Minutes] [Maximum Marks : 200

Note : This Paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

AT : A GLAYehd THUT IR (100) Tgaaren Ted ot oTed. Tcieh Jemen & (2)
U1 3Ted. @d U Wred.

1. Edgeworth Box allows the study of | 1. TS afed a1 Welidl v SRATGGAT
the intersection of : ST STTAT <l ?

(A) two individuals trading two (A) O =Rl et S AT .

different goods
YT

(B) two individuals trading one

(B) TH HKil 30T WehT @l SATIR
(C) Weh It 30T S SRTATTes S

good

(C) one individual trading two

different goods MR

(D) two countries trading two sets (D) S <1 3707 3 STE=A1 S Tl
containing several goods IR

2. To service public debt .............. must | 2. TSR ol BTG FRH]

be paid. RIEST

(A) fees (A) qoh

(B) fine (B) 3

(C) interest (C) =t

(D) tax (D) F

3 [P.T.O.



A domestically held public debt is
the debt that ...............

(A) we owe to the World Bank
(B) we owe to the Central Bank
(C) we owe to Government

(D) we owe to ourselves

Public debt accumulation may be so

drastic as to lead to ............

(A) fiscal breakdown

(B) loss of profit in the public sector
(C) loss of revenue

(D) break-even point

According to the principle of
intergenerational equity, the
burden of today’s public

expenditures must be borne by

(A) Present Generation
(B) Government

(C) Future Generation

(D) Central Bank

JUN -11219/11—C
I HESIR sl TUS T

(A) 2YME AN STIfdsh oehd <01
[SIRGIG

(B) <ML AMRER ALl Sehdl <0 AN
(C) <M AFRes IME=E 0 AN
(D) WM e Wa:=9 <0 AN

IS st o aeh] 19 3T Thd

oo o

(A) TSRS YOMeldial faeme

(B) HreSieh Qi TR 8
(C) Tegarst gt

(B) zm&A

(C) ge=it fudt
(D) HeFedt s




Government needs to follow the
ethical principle of .............. while

resorting to public debt.

(A) Frugality

(B) Equality

(C) Efficiency

(D) Intergenerational equity

Ideally public capital formation
should be financed with the help
of :

(A) loan

(B) borrowing from foreign markets
(C) borrowing from IMF

(D) Tax collected

Rising public expenditure leads to
increase in the rate of interest

resulting in :

(A) Crowding out of private

investment
(B) Crowed in of private investment
(C) Market failure

(D) Government failure

JUN - 11219/11—C

(B) 9HMHEC
(C) hrEeHar
(D) AU T

eyl feordia wrelsifier wieaa ffddamet
Fc :[ ............... .q.g_fl- W g_on
(A) st famm

(C) AW A0 FHEter halt

(D) =X He{cll

& HTESI e EEiges SATS T e

(A) ST qEeh 1SS 38 BId
QEEREIS)

(B) @M [ HISE 1 B
(C) SNIR 7999

(D) I AT
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10.

11.

Which of the following is not a public
utility ?

(A) Water supply
(B) Electricity

(C) Entertainment
(D) Energy

The counterpart of benefit

externalities is ...........
(A) average costs
(B) total costs

(C) internal costs
(D) external costs

Efficiency in production requires

that :

(A) marginal rates of substitution

are unequal to all consumers

(B) marginal rates of technical
substitution are unequal to all

firms

(C) marginal rates of substitution

are equal to all consumers

(D) marginal rates of technical
substitution are equal to all

firms

10.

11.
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TEAcTeh] VT Seeh HTeisiiTeh Ul
A& ?

(A) dfigEaa

(B) =i

(C) WARSH

(D) it

Y AR g §N RS
(A) FUEl =

(B) TR0 =9
(C) 2Idd =9

(D) <& =a4

(A) Td TS S 9Iigdl X
T A9

(B) ¥d SENMTEEATEIST HHIG dqifsen

TIiEar X GEE A9

(C) Td SuviEEder THd 9aEdr €%
T STl

(D) ¥d SETEEEST HiHd dife
T €8 GHE 3Tl




12. If the firm has both monopolistic

13.

power in the product market and
monopolistic power in the input

market then the factor is paid a

Equal to its Marginal Revenue

Product (MRP)

(B)

Less than its Marginal Revenue

Product (MRP)

(C) Greater than its Marginal

Revenue Product (MRP)

(D) Equal to its Value of Marginal

Product (VMP)

The concept of revenue neutral rate
of tax becomes relevant in the case

of :

(A) change in tax base

(B)

a new tax replacing an existing

one

©)

an old tax being discarded

(D)

change in tax structure

12.

13.
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T SRAHEIT I ARG FRIQRT o

ek ST UTBHITEhR 3T X TEhTT

(A) =1 HIHE 3T GTetes]

(B) I=A1 €9 3Scqe Uriuen i

(C) I=A1 a3 gl Sed

(D) = HHd IR HedTsdeh

A HEYA qeE U= FhedAl vl

STefdiid J&d A ?

(A) HTAT IEAAA IS

(B) 3Tl SAfdcard sTdeiedn =l ST
T R O

(C) TERT AT T hIGT Zehell S0l

(D) T TAd SEd Bo
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14. All scheduled banks in India are

15.

16.

included in the ................ schedule of
the Reserve Bank Act and they are
expected to keep cash reserves of

equal to percent of their

deposit liabilities.
(A) Seventh, 3
(B) Second, 3
(C) Seventh, 2
(D) Third, 5

The Origin of Development Banks

can be found in .......... in the year ..........
(A) France, 1789

(B) U.S.A, 1776

(C) Germany, 1832

(D) Belgium, 1822

Indian Monetary Policy based on

monetary targeting was

recommended by ............
(A) Rangarajan Committee
(B) R. Gandhi Committee
(C) Khusro Committee

(D) Chakravarty Committee
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14. ¥& 9RAE STIgfaa s IR e

15.

16.

(A) g, 3
(B) T&I, 3
(C) dHrdedn, 2

(D) fag=, 5

EEIRCCAC I

I T TS
(A) w4, 1789
(B) 4.W4.Q,, 1776
(C) ST, 1832
(D) sesitam, 1822

Hifgeh ALATTIH Afseh GRom= TRy




17.

18.

What was the major drawback of
Credit Authorization Scheme

practised by RBI in 1965 ?

(A)

It led to industrial monopolies

(B)

It resulted into more industrial

sickness

©)

It led to credit starvation

(D) It led to huge administrative

delays

One of the major differences between
Bills of Exchange and Promissory

Note is that :

(A) Bills of Exchange are for short-
term while Promissory Note is

for long-term

(B) Bill of Exchange has three
parties while Promissory Note

has only two parties

(C) Bills of Exchange are issued by
central bank while Promissory
Notes are issued by commercial

banks

(D) Bills of Exchange are illegal
while Promissory Notes are

legal in nature

17.

18.
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1965 ALY YR fEeg seha HA
VT 9a SAfEghadn s & ]
HI BT ?

(A) a1ges =Nk TeRert fafor gt

(B) 91qes 3i=NfiTeh STSRUvl aee

(C) e wee=rg o gedt

(D) 7S TeE YOG faee fai
ElS

fafraaga snfor === Arda Tk gqe

T 3T H o:

(A) fafTaas sTeqehTe= 3T9dd X

IIIS < TEeRTA 3THd

(B) Tafmaaama @9 981 S1da X

IS shdes S U&T STEAd

(C) faffaaas Aezerdt dehengd fomfia

Shed] STATd, T SIS SATAR Sieh

foafta s

(D) fafaaas /@Y 3/ Edd dX a=T

qY R A

[P.T.O.



19.

20.

21.

Which of the following is not a form

of mortgage ?

(A) Simple mortgage

(B) English mortgage
(C) Partial mortgage
(D) Anomalous mortgage

The RBI appointed a committee
under the chairmanship of S.S.
Tarapore to seek recommendations

on which of the following ?

(A) Restructuring of SBI

(B) Recovery of NPAs

(C) Convertibility of rupee

(D) Implementation of Basel norms

Basel III conditions, as applied to
Indian banks deal with :

(A) Bank capital structure
(B) NPAs of banks
(C) Profitability of banks

(D) Aggregate bank loans

19.

20.

21.
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ETATcAeh] ShIOTAT TRTOM= Yeh A& 2
(A) ®Y TR

(B) ¥ursft TR

(C) sif¥reh TR

(D) 3TYAICIcHS: TTaIul

figred a7 TH.TH. QU9 AGr=an

AT BITeATeTdeh! HIme TR

o N

HLOITES G

THet ?
(A) YRAT Ve dehdl TR
(B) 3TUTeH HOxitel et
(C) TuAr= e

(D) 99 Tl STHASSIION

IR ST @1 sheredl sia 11 3

(A) Sh Wreddr=T TEAT

(B) =l STqre= Howit

(C) SR ATyl

(D) THU SAF FHS

10
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22. Identify the statement that is not | 22. Tgsﬁlﬁ faum eleswEn
correct : .
(A) WRA e slehe Tftgiientor 1949
(A) RBI was nationalized in 1949
A ATA
(B) C.D. Deshmukh was the first
Indian to hold the post of (B) A
Governor of RBI el e ¢ el WRdtE g
(C) RBIl is the custodian of Foreign (C) 9T feed o IRa= WE
Exchange Reserves of India
T HieAE SAfRe
(D) Raghuram Rajan succeeded
D) 3d 9ed IAFR TR TS
Urjit Patel as the Governor of D)
RBI IR e dhd T ol
23. SARFAESI Act (2002) in India deals 23. SARFAESI FFET (2002)  CIRIGEE D
with which of the following ? T Frfed oTE 2
(A) Merger and acquisition of banks o
(A) dahra fafertertor sTfor Frfiefienon
(B) Restructuring of cooperative
banks (B) ¥R ShT=l AL
(C) Bank Recapitalization (C) ¥ EEEICCKIET
(D) Recovery of NPAs. (D) ST SU<iE agﬂ"r
11 [P.T.O.



24. Which of the following statements

25.

about Reserve Bank of India is not

true ?

(A) RBI is the central bank of

India

(B) RBI moulds the monetary policy
of India

(C) RBI moulds the fiscal policy of

India

(D) RBI is both the bankers’ bank

and Government’s bank

Which of the following is not among
the five associate banks that have
been merged with State Bank of

India ?

(A) State Bank of Bikaner and

Jaipur
(B) State Bank of Hyderabad
(C) State Bank of Punjab

(D) State Bank of Mysore
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24, WG g sfeh=ar Geuid v faem

25.

T AR ?

(A) AR e oo Tom=h Hemad! s

Sl

(B) wkata fgrd o difgew Rom=h
ARG A

(C) YR figrd s Teiforiar eomsit
ARG A

(D) YR Rgrd o & St s 9
TWHRET sk R

WATTUsh! hIU deh TRA W slehd
et e Teredn 9re edrt deniae
e ?

(A) Ve & 3 fohrR mfor SEge
(B) W2 d% 3% TeIeg

(C) e % 3 da

(D) W2 &% 3ifth =Ex
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26. Match the following : 26. el Jeodl

Nobel Prize Winner Ao uTiRaitaes fesrd
(@) Amartya Sen (@) 39 T
() Richard Thaler (b) = 9rR
(¢) Paul Krugman (¢) dfa@ HTEA
(d) Robert Lucas (d) I =T

Field/Area &

(i) Behavioural Economics () S e
(i)) Development Economics i) TS stefees
(iti) Welfare Economics (i) FeaTTH s
(iv) International Trade (iv) ST =R
Codes : HRais

@ ®) © @ @ & © @
W@ @ w) A O G Gi) )
B @)@ B) @) Gi) Gv) @
© @@ o) © @) G) G G
D) )y @) D) Gi) @ @ G

13 [P.T.O.



27.

28.

According to Leibenstein, the
favourable conditions in the path of
Economic Development are known

as :
(A) Positive factors
(B) Incentives

(C) Capital

(D) Growth agents

According to Hicks, a neutral

invention is when :

(A) It increases savings and invest-

ment in same proportions

(B) It raises marginal productivities
of labour and capital in the

same proportion

(C) It develops agriculture and
industrial sector simul-
taneously

(D) It does not affect the economy

27.

28.
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AE=EA Ire1 Ha enfdes faerrdr=n

(A) HhRHS ®h
(B) WO

(C) wiger

(D) Fai AfeRd

Toara == v, Ie¥y awiY deerd wed

Idl Sl e

(A) TTes =t ST [AAVEHTHES THH

YHIOMG o1& BId

(B) ™3 9™ 30 Wieaem=a HHd

SAEhHdd THE HONG oE B

(C) TS UehTaded FHHT 0T irenfiten

& foerrd B

(D) TYes 3TferawdeR qRomy & et

14



29. Which of the following can be said

as a major difference between

Harrod and Domar growth

models ?

(A) Both have different
assumptions

(B) Harrod stresses on knife-edge
equilibrium while Domar does

not

(C) Harrod’s model is for advanced
countries while Domar model

focuses on backward countries

(D)

Both use different notations for

marginal propensity to consume

JUN - 11219/11—C

29. Wi 3Mfor TR FF WEU Teierdeh]

R TIE R AE 7

(A) T wrEuEl TR fa= emRa

(B) BUSAT WX hIehN FHAGEN 3T

T S T e

(C) &eT Yey Wd SIS 378, TN

M

LN N N ~
SH™E HAlY HEIE QRIAX oplxd

Sl

(D) St YT HIHd STHRT Fewret

i famgi=n 9T el TR

30. The capital-turnover criterion of 30. Wﬂﬂi@aﬂ—wﬁﬂm """"""
investment is associated with ............ 1 s BrTRed T,
these economists.
(A) Joan Robinson and W.W. (A) SH Ufaam A1 Tscg. e, T2
Rostow
(B) J.J. Polak and N.S. Buchanon (B) 9. ek S T, g
(C) K. Kaldor and Rosenstein- () R A e T
Rodan
(D) Ragnar Nurkse and Hirschman (D) TR o emfor gvemA
15 [P.T.O.



31.

32.

Theory of Big Push describes

different kinds of .............

(A) Stimulants and shocks

(B) External economies and
indivisibilities

(C) Equilibrium traps

(D) Growth agents

The way income is distributed across

individuals and households is

referred to as :

(A) Absolute inequality

(B) Relative inequality

(C) Vertical inequality

(D) Horizontal inequality

31.

32.
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ydes Il THgiad e 9=

(B) &g ey aAfur stfayrsaan

(C) 9\l |

(D) Fai AfeeRd

A SO SpeaHea Sca—=1 faazom=n

(A) Truer fasma

(B) wruey faeman

(C) fuy==aia oo

(D) =g fooman

16
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33. According to Hirschman ............. 33. WAHI AR TA ST HgoR
industry is having highest combined TS O Hatfer emRd
linkage score ?
(A) =SEm
(A) Textiles
(B) dEe o g SN
(B) Iron and Steel
(C) Energy (C) i
(D) Agro-based industries (D) Feit-enenia e
34. Who has developed the theory of | 34 ERIATH saener= fagia ol faenfi
technological dualism ? el ?
(A) J.H. Boeke (A) STF. w0
(B) Benjamin Higgins (B) sisnfa fefir=
(C) R.P. Nelson (C) U —ereH
(D) Charles Kindleberger (D) =ed fehearersiv
35. According to Rostow’s growth model | 35. UL I J§ WHUTAR STHFTEI=
............... stage is a watershed in the STEeh AT ShIfThRI el TREEUINT 3Taeel
life of a society ? | e & o
(A) Traditional society (A) RO FHN
(B) Drive to maturity (B) uftugaa=a fegm aeam
(C) Take-off OEECSLE]
(D) Age of high mass consumption (D) w=a gt SudrmEn <o
17 [P.T.O.



36.

317.

Which of the following economists
have developed New Growth

Theory ?

(A) Romer, Lucas and Arrow

(B) Romer, Robinson and Kaldor

(C) Marx, Schumpeter and Keynes

(D) Romer, Schumpeter and Meade

The basic needs approach to

economic development consists of

(A)

Basic income and consumption

(B)

Provision of Minimum Wage

(C) Provision of health services,
education, housing sanitation,

water supply and adequate

nutrition

(D) Public distribution scheme

36.

317.
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WA hive refassil ‘Ta-gal

fagia’ fowfaa wen s ?
(A) IR, T 07 1
(B) U, Ufe=gd o1 shieer
(C) W, gdtex offor &=

(D) IR, YU a7t He

3R forehTar=A FAYd TR gl

(A) HAYd 3= 30 IqYRT

(B) fhAM dar=T TS

(C) g, faeon, Tefmio =,

TofgEErel ST QL& 9T =i Ts

(D) wresies fordor e

18
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38. In which year the World | 38. ShIUI TETeAT ST IR STEATETHT
Development Report had the theme o ‘fae@m oM’ ' a2
of ‘Challenge of Development’ ?
(A) 1990
(A) 1990
(B) 1991
(B) 1991
(©) 1999 (C) 1999
(D) 2000 (D) 2000
39. Which of the following says that the | 39. Ahae= fafiTse qrasien gierR 3
per capita income is maximum at a TeTH ST9d § YeIeTdeh! Shival qay
particular level of population ? )
A) Malthusian Th f Populati . - e
(A) Malthusian Theory of Population (A) =TT T
(B) Theory of Optimum Population ) .
(B) 9a@ dergen g
(C) Theory of Demographic
Transition ©
(D) Harris-Todaro Model (D) eRE-Trert Hfawr
40. Name the state with the lowest death | 40. 2011 =1 ST TR TR TeeX ST
rate according to Census 2011. oA A E.
(A) West Bengal (A) Tfe=m e
(B) Haryana (B) =AM
(C) Bihar (C) foeR
(D) Kerala (D)
19 [P.T.O.



41.

42.

Which of the following establishes
the principle that energy can neither

be created nor destroyed ?

(A) Pigouvian Tax

(B) Coase theorem

(C) Tradeable permits

(D) First law of thermodynamics

What 1is the Environmental

Economics ?
(A) The branch of Economics that
studies how environmental and

natural resources are developed

and managed

(B) The branch of Economics that
shows how to exploit natural

resources as quickly as possible

(C) The psychological study of
relationships between humans

and natural resources

(D)

The relationship between

Economics and trade

41.

42.
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Fell A g% weRd AR fehem < AT
e ARl ¥ awd Jeid iUl Hehed ]

e Hd ?

(A) fomfoa s
(B) & 99T

(C) HMER Irg q@m™

(D) ISTTideh=n wog f=m

TR0 A "IN S ?

(A) AT TR0 IME S T eaoia
9 9fifer gaen faswfaq w0 9

T SHORYTI hi0l e 3T

L

(B) oI qd@dl STegaq S fiieh TETeH
TG0 Y IS § STV ST

TH I

(C) HMHel 9 Sufifer TEEA I 8-

T HAESTSE 378219

(D) AUIME o AR AT TeHa Y

20



43. Which of the following is a

transboundry externality ?

(A) Pollution has an identifiable

source

(B) Pollution emissions in one
country or several countries
affect other countries without

pollution problems

(C) Pollution which emitted from

many sources and it is
extremely difficult to identify

and monitor

(D) Pollution which can take the
form of chemical substances or

energy such as noise, heat or

light

JUN - 11219/11—C

43. YUt HE HHOR afed guifa ?

(A) TEEOMET H HId eIy

Sl

(B) TRl foharl sk <mial GO

IS YGHOTEl Y9 O SR

3 MR RO i

(C) JguUul 3ch s*mtamﬂlﬂﬁ;i SIS

S F N STHAET 3T 9 A

T FHIU AT

(D) @S SRy foan Timme,

IOTCT fohall TERTRT STRM o1l Th RIS

B HgST
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44.

45.

() The Population Policy 2000 had

a long-term objective of

achieving a stable population by

2015.
(71) The Population Policy 2000
aimed at achieving universal
immunization of children

against all vaccine preventable

diseases.

What can you say about the above

statements ?

(A) Statement () is correct but (i7)

is incorrect

(B) Statement (i) is correct but (7)

is incorrect
(C) Both (i) and (ii) are correct
(D) Both (i) and (ii) are incorrect
The abbreviation PPM stands for :
(A) Parts per million
(B) Production per million
(C) Parts per metric ton

(D) Production per metric ton

44.

45.

JUN - 11219/11—C
() §F 2015 THd crehge fer &
T 1 2000 = AREEAT HROM
<Herela 3fee B
(i) WS Ieren widee shToerTst
STl WA (e THIHIT HI0 T
T 2000 = SAREEA SR 3w
B

e S faumrered Ereiiereh! hivr

g e ?

(A) faum (i) 3= 9l fau™ (i) <o
3T

(B) faem (i) em=eh 90 faem () =
e

(C) faem () & (i) 3T=eh 2Tea

(D) faam () 9 (i) IF 3T=a

PPM © wfed &9 Ydardst &M
geiferd ?

(A) fd Szr@el w0

(B) "fd SereAer SedmeH
(C) dfd #Afgw =3 =W
(D) wia afger <7 SeERA
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46. Why do large business corporations 46. IS TATHE HES WS WU AT
voluntarily reduce their pollution ? FUATIS! 1 A Y 2
(A) Some consumers are willing to (A) T ITHR BT ITNAEIS! ST
pay more for Green Products U9 IS I ST
(B) Green investors may prefer to (B) R ARSI WIS SAferereh]
invest with socially responsible AIEAEAT SEIFISAT=El. ddatlsetnl
firms THAT T
(C) Industries try to act first before (C) WEFRA wHedh wAfaRoia fram
government passes tougher ATATITYSAT= ST HEATAT <hTH
environmental laws A ST
(D) All the above statements (D) =@ wel faem it omed
47. As per census 2011 data which state | 47. T 2011 =1 SFRTIHTHR YRART <hI0T
in India has the maximum sex T fom gamor g9gdq e ?
ratio ?
(A) ST
(A) Chhattisgarh
(B) Aiceh
(B) Karnataka
(C) =@
(C) Kerala
D)
(D) Odisha D)
23 [P.T.O.



48.

49.

50.

Which of the following is a non-

renewable natural resource ?
(A) Fish and livestock

(B) Petroleum

(C) Human Resources

(D) Teakwood plantations

Demographic dividend refers to arise

in population between the age group

(A) 14 to 59
(B) 15 to 59
(C) 15 to 64
(D) 14 to 64

Which of the following ministries
implements the Mid-day Meal
Scheme (MMS) ?

(A) Ministry of Women and Child

Development

(B) Department of Food and Public

Distribution

(®)

Planning Commission

(D)

Ministry of Human Resource

Development

48.

49.

50.
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JEATdeh] hIUN e SHIEE STaI-
Fg 3R ?

(A) 99 9 YA

(B) Ufe=m

(C) Het HEeH

(D) WA= @NTeS

TANRA AhTEd B
(A) 14 d 59
(B) 15 d 59
(C) 15 1 64

(D) 14 d 64

@Ak IV AT HEATS

IS AT SHAASTEN hedl S 2

(A) wfgen for a HeA WA

(B) 3791 9 HaSiqer faaeor fasm

(C) TFersH smEm

(D) \FE gEed faem w9

24



51. Which of the following criteria is

used to define an urban area as per

the census 2011 ?

(1) A minimum population of 5000.

(z1)) A density of population of at

least 400 persons per sq.km.

(ziz) At least 75 percent of the male
working population engaged in

non-agricultural pursuits.

Which of the following is correct

answer using the codes given below :

(A) (i) and (ii) only

(B) (i) and (iii) only

(C) (i) and (iii) only

(D) @), (i) and (1)

JUN - 11219/11—C

51. SFRTOAT 2011 TR, ARRT &A1= SAre

LM SeteTdeht shivrar f7eRs STaTe

St ?

(G) THAM AREEA 5000 Sdeh! TS

(i) ATREEAET TAdT fRAM 400 Rl

gfg =V, foret. eEmEl

(tii) TR ot &= fohmm 75 2oh qeu

o N hd

TR AHHCAT hIELd  STHE

Teitd ehdlhr=al SMER 3TgH I

FIE 2

(A) e (i) ST (3d)

(B) WK (i) 0T (iid)
(C) w& (i) o (iii)

D) @), i) 3o (i)
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52. Which one of the following is not an

53.

indicator of the multidimensional

Poverty Index ?

(A) Health

(B) Education

(C) Living Standard

(D) Maternal Mortality

Deposit Insurance and Credit

Guarantee Corporation (DICGC)

was established on .............
(A) July 1, 1978
(B) July 15, 1978

(C) August 15, 1978

(D) October 2, 1978

52.

53.

JUN - 11219/I1—C
TATTUsh! IV Teh AgsTRam SIed

~

BEUEAC IR R | 1

(A) Y

(B) Tretor

(C) TBuitHH

(D) A g

& fomr 9 ud &6 qeHes® (DICGO)

R L= i = £ A

(A) 1 51, 1978

(B) 15 91, 1978

(C) 15 3T, 1978

(D) 2 AT, 1978
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54. Who recommended to establish the | 54 To1 Fms wfersreor Tomes sHevarh
‘Insurance Regulation Authority’ ? e wft el a2
(A) Dandekar Committee (A) T it
(B) Malhotra Committee (B) e wffdt
(C) Khusro Committee (C) g wfd
(D) Rangarajan Committee (D) TS Wit
55. Cryptocurrency refers to ............ 55. fereraery U,
(A) Plastic money (A) =t T
(B) Digital/Virtual currency (B) fefSrea/smurdt =
(C) Digital payments (C) fefsea qg=
(D) Both (A) and (B) (D) (A) 7o (B) et
56. Arrange the names of the chairmen | 56. Tl fox STE=AT steAsi= =
of the Finance Commission of India THAUGR AT hITRHATTAR HISOT & :
in the chronological order : G .
() K.C. Pant i) % R
(1) K. Brahmananda Reddy i v T
(i) AM. Khusro ) 5 o
() K. Santhanam
@A) 6), Gi), Gid), (o) (A @), (D), @), (v)
B) (i), G), Gid), (iv) (B) ), ©, @), ()
(©) Go), Gd), (), (Gid) ©) @), @, @, @)
D) (i), (@), (@), (iv) D) Gid), (D), (), (i)
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57. Arrange the following Urban

Development Programmes by the

year of their implementation

starting from the earliest to the

latest :

(1) Integrated Development of

Small and Medium Towns

(IDSMT)

(i) JNNURM

(7ii) Mega Cities Programme

(iv) Smart Cities Mission

A) @), (@), Gu), ()

B) @), (), (o), (@)

(C) &), Gi), @), (v)

D) @, @), (o), ()

JUN - 11219/I1—C

57. Tleltd AR faehd iRl =

STHCTSSTEv = e Jead o
ST AT AT HIARHHATHR HST

0 e

() TEE 9 T TR ThiicHeh foehTd

(IDSMT)

(i) SO TeE USerd AR AT

ANEH

(i) o o sy

(Gv) T ot M

A @), @), ), Gv)

B) ), @), Gv), (i)

(©) @), @), (D), Gv)

(D) @), Gi), (o), (1)
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58. Match the following :

Year

(@) 1981

(b) 1991

(¢) 2001

(d) 2011

Total Work Participation

Rate in India (%)

@ 375

(i) 36.8

(iii) 39.8

(v) 39.1

Codes :

(@ () (o)

A @ @ @)

B) @) @) @)

©) @ O @@

O @ @ @)

(d)

(tv)

@)

(273)

(tv)

JUN - 11219/11—C

58. MY SIedl Sl :

(@) 1981

(b) 1991

(¢c) 2001

(d) 2011

T

TRATIA THUT i TGN

T (SHhaRI)
@) 375
(i) 36.8
(i) 39.8
(v) 39.1
Hehdieh :

@ ® © @
Q) @) @ @) )
B) Gv) GE) @) G)
© @ @ G G
D) @ @ @) ()
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59. Match the following : 59. Ard Sie Jeodl
State =4
(@) Gujarat (@) TSI
(b) Karnataka (b) wAleH
(¢) Maharashtra (c) WBNTSS
(d) Tamil Nadu (d) TS
Poverty estimates (2011-12) TIgIT= q|IoT (2011-12)
(i) 11.3 percent (@) 11.3 TFh
(i) 16.6 percent (i) 16.6 Fh
(iii) 17.4 percent (i) 17.4 TFh
(fv) 20.9 percent (iv) 20.9 TFh
Codes : Hehdieh :
(@ ®) @ @ (@ ®) @ @
(A) G) Gi) @) Gv) A @ @) @ @Gv)
B) G) Gv) Gi) 6 B) G) Gv) G G
© @ @ G Go) ©) @ @ @) (v
D) @) @ @@ G0 D) Gv) G G Gid)
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60. Match the following :
Committees
(@) Alagh Committee
(b) Tendulkar Committee
(¢) Lakdawala Committee
(d) Rangarajan Committee
Years
@) 2012
(@) 2009
(z11) 1993
(Gv) 1979
Codes :

(@ &) @ @
A @ @ G Go)
B) @) @) @G O
©) @) @) G 6

D @ @ G @)

JUN - 11219/11—C

60. AT STSAT Seodl

Wit
(@) TeT™ |l
(b) AR Tl
(c) TRSET HiHdt

(d) TRSH |t

(@ 2012
(@) 2009
(i) 1993
(fv) 1979
Hehdih :

(@ &) © @
A @) @) @D Go)
B) Guv) G @ @
C) ) @ G @

D @ @ Gv) @)
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61.

62.

Consider the pair of goods X and Y.
It is observed that when price of Y
falls the demand for X rises. Which
one of the following options would
you choose regarding the nature of
these goods ?

(A) They are complementary goods
(B) They are substitute goods

(C) They are giffen goods

(D) They are inferior goods

Read the following statements and
find out if they are correct or
incorrect :

(z) When average total cost in the
short run is at its minimum, the
corresponding marginal cost is
also minimum.

(z1) The average fixed cost during
the short run is U shaped curve.
(A) Both are correct
(B)
(©)

(D)

(1) 1s correct, (iz) is incorrect
Both are incorrect

(1) is incorrect, (iz) is correct

61.

62.

JUN -11219/11—C
“or" onfor ' ST SISl 3TIR STH WHST
Siegt ‘' =t fhyd wed deet ‘&1’ =t AnTon

e, ST 3@ Ad. A1 T S

30T YEeTden! wivial v faee 2

(A) A I ek 3Med
(B) =N %] TAE 3T
(C) = FTHA =% 3ted

(D) =1 HfTS a& 3
Breitel faem amen o ot = i s’
JMRd d W

(i) SRl STTURET T THU =

T THA, Tl TeIEY HHT 2
WA =IAAH ST
(ii) 3TeUeTead T feR =99 o Ut

I STRRIET STE.
(A) 3 faum =R oTRd
(B) (i) SRISR 378 (ii) JH e

(C) T8l I 3T

D) () I & (i) T 378
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63. Uncertainty influences the | 63. AMYEaa= Y99 I TEE= 2 9
estimation of costs, revenues and TTSITER B TS R WA
hence the ............... B,

(A) profits of the firm (A) STUEA TEET TR

(B) decisions of the firm (B) e weo Aoy

(C) investments of the firm (C) SURA T Tqavh

(D) insurance policy of the firm (D) ScIeA GEE W R

64. A ... game is one in which it is | 64. 39 Td Wes i AHY
not possible to commit to strategies. W%ﬁ SfereTeh! I TEd
(A) Co-operative (A) HERRI
(B) Non-co-operative (B) T8RRI
(C) Zero sum (C) = o
(D) Competitive (D) TqeicHe

65. Under Cournot duopoly model, the 65. A= GAfHERR HAHITER Hqer fohea
equilibrium price is weovevrereene. | ST
(A) indeterminate (A) ffe=a
(B) equal to competitive price (B) Ty fepmdt Torcd
(C) equal to monopoly price (C) et forwdt o
(D) more than competitive price (D) F9ericHs fepmdtaen sreq smfon

and less than monopoly price eI fepmiten et
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66.

67.

The backward bend in the shape of
supply curve of labour is caused

by :

(A) cost of labour

(B) attitude of individuals towards

work and leisure

(C) demand for labour

(D)

factor market

According to Dorfman, Samuelson
and Solow, general equilibrium
analysis becomes .................... if it is
not known whether an economic

system can attain a general

equilibrium.

(A) Practically useless
(B) Practically useful
(C) Perfectly applicable

(D) Impossible

66.

67.

JUN - 11219/I1—C

SH YIE3T gehl=Al UISHM Fhaedl

SR SHIO]

AR,

(A) &H =™

(B) 1 N0 | o5 AT
LI

(C) &=t Hroit

(D) ®Zh SNIR

A, HUeTE 0 Fiell = Hd

SR TEIRT 3T el HadIERo dde

STEAT UTd kil fohal ATel § HIEd 94

(A) eeiihgted feaan

(B) eRIiiehgsedn IqART
(C) Ryl ITASAr™

(D) W
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68. According to the Kaldor-Hicks | gg HoeR-fergen wd fIFETER. SR
compensation criterion, a change in
""""""" T ek HRMd agel FHISTh
economic policy leads to an
improvement in social welfare if ShedTod FEROT =S STl
"""""" (A) oY THEOR sceran foliy wd
(A) The losers do not oppose the
B
change
(B) The gainers can just (B) @ faesamm ast oI
compensate the losers WO Hd 3Tt
(C) The gainers can compensate the )
© b (C) @y TH@IUM ey THTFuT=ATE
losers for their loss and still
remain better-off themselves T HET E“ el st
than before TTean feudia Tear STden
D) Th i d 1 t f : -
D) e gainers and losers ge D) @ S—— -
compensation from the
government & 3 5
69. Moral hazards are also a result | 69 ek ey T ST 3T
Of v =l
(A) Symmetric information (A) F9&Y HAfed]
(B) Lack of information (B) Hifgcdr=n 314E
(C) Asymmetric information (C) ST HH&Y Hifgd
(D) Perfect information (D) qui wfedt
35 [P.T.O.



70.

71.

72.

Social welfare function was first
introduced by :

(A) Adam Smith

(B) Joan Robinson

(C) Nicholas Kaldor

(D) Bergson

Which of the following is neither a

determinant of the slope of IS curve
nor of the LM curve ?

(A) Elasticity of interest rates to

investment

(B) Elasticity of money demand to

income

(C) Elasticity of demand to interest

rate

(D) Elasticity of income to

investment

To achieve a rise in income of ¥ 500
crores given that the marginal
propensity to save (MPS) as 0.2, how
much autonomous investments are

needed in the Keynesian model ?
(A) T 100 crores
(B) T 1000 crores
(C) % 400 crores
(D) X 500 crores

70.

71.

72.
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HIHIrchh cndlYl thad qr’é(’ﬁiﬁl
I URA el

(A) 3fen femy

(B) A Ufe=

(C) o™ Hheeik

(D) oA

@Ak hIvdT ®eeh IS 37t LM =1

(alla

e HRCEIEIRES R

T ?

dd p U] ®ceh

(A) TSI ETe STSIG= TTeaehal

(B) B9mr=a1 HMUET Scq=ATaTIdT

KEIEEXI

OB LUIEIR I SHIEIESEIRSEIEEX]

(D) I [ATIeh [Tl el eehdl

I T 500 HIT G e HITATHIS

WHa F9d Y 0.2 STEAA hewe

GITHMTIER et o T[aevfeniet TR
;e ?

(A) % 100 =it

(B) ¥ 1000 I

(C) % 400 =it

(D) % 500 =it
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73. In an economy, high powered money | 73. sifeEedmeia SHam Uar Haf-]aﬁa.ﬁ
is equal to : F it i 2
(A) Monetary liabilities of central .
(A) TEHAd Shet HIfgeh <l + TR
bank + government money
T
(B) Monetary liabilities of central
bank — government money (B) WeHedt siehe Hifseh aadl — TR
(C) Monetary liabilities of central LKL
bank + foreign exchange (C) TeHed! sl Hifgeh <ol + T
reserves
EERIC
(D) Monetary liabilities of central .
bank — foreign exchange (D) HeFEdl Sehdl A Il — i
reserves ERERICH
74. According to the Rational | 74. faas! stien TEdRTIR HEdE o
Expectations Hypothesis, there is no A A1 SEEY FIOArE SaToreETo
trade off between inflation and T FO -
unemployment because :
(A) 909 7 TEmTH ¥ det sted
(A) Wages are rigid downwards
(B) fermt = steimmrt fe dret eream
(B) Prices are rigid downwards
C) ol JeT=n Racandiel 9eat 3T
(C) People anticipate changes in ©) 3 o wd
money supply and accordingly (I o AT T AT AT
adjust the prices and wages SRIRIERECRUIN
(D) People make biased forecasts (D) 3uaisel AIfgdl=ar SATenml e
about the future of economy = gfasarered  geTqrda!
based on available information 3T HA
37 [P.T.O.



75.

76.

77.

Gross National Product = Gross

Domestic Product +

(A) Depreciation

(B) Inflation

(C) Net factor incomes from abroad
(D) Factor costs

The Non-Accelerating Inflation Rate
of Unemployment (NAIRU) is

defined as :

(A)

Inflation rate is always zero

(B) Actual inflation rate exceeds the

expected inflation rate

(C) Actual inflation rate is less than

the expected inflation rate

(D) Actual inflation rate equals the

expected inflation rate

The total consumption divided by
the total income is known as ..........
(A) Average propensity to consume
(B) Marginal propensity to consume

(C) Marginal propensity to save

(D) Average propensity to save

75.

76.

77.
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Tohel QYA

Tohel U2 3dRA =

(A) =9I

(B) =ed@

(C) T e oeah 3ca
(D) T=F T

ST TR SE 7 SUIRT SRISFIET &Y
(NAIRU) ATt &A1 JieTdeht FIvrt 2

(A) HIEwdl & TeHl I S|l

(B) WRIFEhdl A1 e S HRIeh=
sTuferd qUUET S STl

(C) HIfEhdr=n ardd T HEIEhiea

Imuferd SuUen wHT ST

(D) YIohd=T S SX 9 HaIEhdra
uferd X M ST9al

= N
TR STHITE THT A= AT STET

et wE e ?
(A) TEd YA Yot
(B) HHM@ IYNRT Yot

(C) ¥Ma d=d gl

D) T s=d Yt
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78. Stagflation is a period of ............ 78. Jig\ﬁ«qqq] gfed ‘qfr/a\qjlﬁm g
(A) High inflation and high = ehTCTTEl ST,
unemployment (A) S=9 HEME oMol Sea SRS
(B) High inflation
d (B) S=4 werm
(C) High unemployment
(C) =9 SRS
(D) Low inflation and high
unemployment (D) el HETME A0 oo SIS
79. If the economy is in expansaionary | 79. IIHIEN AIRIH faeaRerd STewdd
phase of business cycle, aggregate STHAT, TR WREOR - hEni
demand is likely to be .............. o P
unemployment is likely to be ............ , , 3%
inflation is likely to be ............ and HAgRACITAT Hegell TTeAEg
the current account balance of oo
payments likely to be moving
towards .............. (A) ¥Ted, 4l Bd, 9Ted, I
(A) rising, falling, rising, deficit (B) feem, =tft, e ©
(B) static, low, rising, deficit
(C) I BId, HHT BId, HHT Bld, e
(C) falling, falling, falling, surplus
(D) falling, rising, falling, surplus (D) I @, e, FH A, A
80. The investment demand curve | 80. T[AaU[k ARV Tk T TICHAIh! HIA
shows the relationship between the 3 Seimeiel gey Tl
following two variables :
(A) Investment and consumption (A) W CULEEERIL
(B) Consumption and interest rate (B) U SmfoT =ATeTe
(C) Investment and interest rate .
(C) Tk ATV SATSIER
(D) Investment and demand for
goods (D) T[AeTeh ST ST Ao
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81.

82.

Logit and Probit models are used to

analyze data that are :
(A) Binary

(B) Continuous

(C) Missing

(D) Used to analyze business cycles

exclusively

.......... , X is a random

n

sample from a normally distributed
population with mean 1 and variance
02, then the following follows a

standard normal distribution :

X-u

(A)

X_ 2
® -9

© = =

81.

82.
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Arsie Ao ifee gfaumT=n ar el

YRl HR=AT fagavomget sl

(A) fegarit

(B) "™

(C) 9 1 9&A IUaTsY A9die] degl

(D) <hdies ATIESh faTeio SHIoAHS

o2 ¥ fa=e sTgeean SRl Ty

ST ARTEAT Saeiell TR Tl

A, N WATAUh! Hiorears faawo
TG GadrERel (Standard normal)
Iqd ?

@) 2=

__ 2
@ =W 2“)
(e)

0_2

© Fowr

X

X -u
G/\/;

(D)
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83. Suppose Y; = o+ BX; +e;isalinear | 83. Y;=a+BX; +e¢; FRCIR R IR E R EIE|
regression model. Goldfeld-Quandt A R Meshos-Fae &l A==l
test is a test of - TR WTCATeTIh! HYIATT Tl shell
(A) Autocorrelation S 2 . .

(B) Data mistakes (A) AARTAA HEHaY

© Het dasticit (B) sTehearidie e
eeroscedastiaity (C) SRR Ahiay Ffword

(D) Correlation between X and Y (D) X & Y =0 9egeur=n gestd

84. The following is the formula for 84. TusTraT=a WEgs T gulfqﬂia g
Pearson’s coefficient of correlation : e F O 2
(A) Covariance(X, Y) Covariance(X, Y)

O0xOy (A) 0Oy
Covariance(X, Y) Covariance(X, Y)
(B) s (B) ’
xOy G§G%
G?{ . (52
(¢) —5 Covariance(X, Y) (©) —X Covariance(X, Y)
Y % ’
2 . 2
(D) ox x Covariance(X, Y) x oy (D) o% x Covariance(X, Y) x 6%
85. If Y, = X +e 1 li
p=otPX re s a linear | o0 ey Y, =a+pX;, +e © {17
regression model and there is serial
. AT TiHH T8 ST |1 i =
correlation among the error terms,
then - SERTHES IoT TR EE, W
(A) OLS estimators are unbiased (A) O afor B ¥ sierst stfma smfon
and efficient FEH ST
(B) OLS estimators are unbiased (B) & aqfn B 3 sieTs) STfHd sTaad
but not efficient . -
nld —Hdld
(C) OLS estimators are wrong T{@ . 0
(D) OLS estimators cannot be ©) « B & s gepl= SISl
calculated (D) O 37for B ¥ 3T Tedl I R
41 [P.T.O.



86.

87.

88.

x3

Let y=—+1)

2 - What is the limit
of yasx > 17
(A) 2
(B) 0
€1
D) 3

2 1
If A=

, what would be the
0 2

value of determinant A ?
(A) 4
(B) 2
) 0
D) 1

In a static optimization problem
with an equality constraint, the

Lagrange multiplier, A is :
(A) Always less than zero
(B) Greater than zero

(C) Always zero

(D) All the above

86.

87.

88.
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x3

(x2 +1)

ST Y = 7Y T8, Wy &l

@ & — 1 FEaH fodt @A ?
(A) 2
(B) 0
©) 1
D) 3

2 1

ST A=

, T IR0 oI 1
0 2

;WA ?

(A) 4

(B) 2

) 0

D) 1

A E0Y S1Ed R swead T
RIS R ), TeRdt @A ?

(A) SeHE e HH

(B) IERd AfEen
(C) TeH= A
(D) SWed gad
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2 1 0 2 1 0
89. Suppose A=|0 2 0| while | 89. ¥HST IR A=|0 2 0|, X
1 1 1 1 1 1
2 0 1 2 0 1
B=10 0 1| Then what would B=10 0 1| gq A - B =™
0O 1 1 0O 1 1
be A - B ? RES I
0 -1 -1 0 -1 -1
(A |0 2 -1 (A |0 2 -1
1 0 0 1 0 0
2 0 O] (2 0 O]
B (1 1 1 B |1 1 1
1 0 1] 1 0 1]
2 1 1] 2 1 1]
© |11 2 1 © |1 2 1
1 0 0] 1 0 0]
(2 0 O] (2 0 O]
D o 1 o M o 1 0
0 0 0] 0 0 0]
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90. If A=

91.

92.

the characteristic

2 1

1 2]’
roots of A are :
A) 1, 1

(B) (1, 3)

(C) (-1, -3)
D) (-1, -1)

Let y = K“I be the Cobb-Douglas

production function. Then, «

measures :

(A) Elasticity of output with respect

to labour
(B) Elasticity of output w.r.t. capital
(C) Marginal product of labour
(D) Marginal product of capital

Identify the non-tariff barrier from

the following :

(A) Ad valorem duty
(B) Specific duty

(C) Compound duty

(D) Voluntary export restraint

90. S A=

91.

92.

JUN - 11219/I1—C

2 1

1 2
dfeTegqes (Characteristic roots)

GAleAUeh! HIvl  ?

],?RAmwvﬁ%i

A 1, D
B) 1, 3)
C) (-1, -3)
D) (-1, -1)

ST y = KL B hia-Sod el 318,

W o T YEcush! ®E qeifed ?

(A) SRR AfHh=A Qo= celfaehd]

(B) STURATE isddr=a] giadl

GEIEEXI
(C) gmr=n foua Sacear

(D) Wieddrt A Scaceshal

TTeTed®! AYA faseT e
M@ .

(A) qeafuftsd T
(B) fafyre &<
(C) I

o (o
[

(D) wrEEHRd A

IBEL]
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93. Dumping aims at flooding foreign | 93. éiqgvlﬂldl 3T QI =t T
country with ................ IO I AL
(A) High priced goods (A) == forudl a&wq
(B) Low priced goods (B) = fhwd=n asq
(C) Specialized goods (ORELLIET TE]
(D) Monopoly goods (D) HEFRRH ELN
94. The managed float was formally | 94. =TaEfqd qaw =~ ey 3ifyeshd
recognized in ............... = fHaare.
(A) Geneva Accord (A) SfTeg1 R
(B) Jamaica Accord (B) STHHI HIR
(C) Washington Accord (C) dff¥Te IR
(D) London Accord (D) T FW
95. Tariff on agricultural and industrial | 95. SFIfdeh MG HIBM THHA HET
goods imposed by US during great a S q{'iq{ FHRA ST
depression is commonly known as : i A T AT ST
(A) The Smoot-Hawley Tariff (&) Hj\d—aTt:l@i ST
(B) The Smith-Hawley Tariff (B) fee-gact Sl
(C) Herbert-Hoover Tariff (0) To-gR I
(D) The Johnson-Hawley Tariff (D) -t STeprel
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96. Factor price equalization theorem

97.

propounded by Heckscher states that
factor prices in two countries get

equalized in the long-term due

(A) difference in opportunity cost

(B)

comparative advantage

(C) free trade based on comapara-

tive advantages
(D)

absolute advantage

Mercantilism was based on the

ideology of ................

(A) Rapid industrialization

(B) Economic nationalism

(C) Free trade

(D) Economic expansionism

JUN - 11219/I1—C

96. THFIA WKA holedl FHh ThAd THMA

97.

g 318 9Tl Rl SrHRAEE o

QIMd o2k forHd TAMAT TEenfud =B

(A) HfeEfda TwEd

(B) qoHIcHe @Y

(C) qorIcHeh Ienid Heri AT

46



98.

99.

100.

When a country can import more
with a given quantity of exports, the
terms of trade are said to be ...............
(A) deteriorating terms of trade
(B) improving terms of trade

(C) income terms of trade

(D) double factor terms of trade

Converting your local financial
assets into foreign financial assets
at the market determined exchange
rate is called ............
(A) Reserve Account

(B) American Depository Receipts
(C) Capital Account Convertibility
(D) Current Account Convertibility

IMF’s changed outlook on putting
back the controls on capital account

came after :

(A) The subprime crisis

(B) Greece debt crisis

(C) South-East Asian Crisis

(D) Oil crisis

98.

99.

100.
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g1 TaEeT <9 feeten fata amia 1y

qT31 3T & STehdl ?ioa WW

(A) foerecien =
(B) goReed TR

(C) 3= SATIRITAT
(D) fgoeesr =ATIRET

SIS Y= shetean fafma SUgar

T ek faiar Tosht g Wt ot

T ®Uaid hid]

(A) TEE
(B) 3fehd |1 gradt

o a

(C) Head WA=l qierd=rdn

(D) =Tq] BTt qRadrer

SIS ATOIE= ArSael Semedia
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ROUGH WORK
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